
 

What happens if life throws you a curve – Straighten it! 
 
This table summarizes the graphs and relationships that you will most likely encounter. 
 

Graph Shape Written 
relationship 

Modification required to 
linearize the graph 

Algebraic 
Representation 

Linear Zero Slope DV is 
independent of 

the 
independent 

Variable 
 

As IV changes 
DV remains the 

same 

None DV = b 

Linear 

DV is directly 
proportional  

to the IV 
None DV = Slope ∙ IV  

Hyperbola 

DV is inversely 
proportional  

to the IV 

Graph  
 

𝟏

𝑰𝒏𝒅𝒆𝒑𝒆𝒏𝒅𝒆𝒏𝒕 𝑽𝒂𝒓𝒊𝒂𝒃𝒍𝒆
 

𝑫𝑽 =
𝑺𝒍𝒐𝒑𝒆

𝑰𝒏𝒅. 𝑽𝒂𝒓𝒊𝒂𝒃𝒍𝒆
 

Top opening parabola 

DV is 
proportional to 
the square of IV 

Graph 
 

(Independent Variable)2 
𝑫𝑽 = 𝑺𝒍𝒐𝒑𝒆(𝑰𝒏𝒅. 𝑽𝒂𝒓)𝟐 

Side opening parabola 

The DV square 
is proportional 

to IV 

Graph 
 

(Dependent Variable)2 
(𝑫𝑽)𝟐 = 𝑺𝒍𝒐𝒑𝒆 ∙ (𝑰𝒏𝒅. 𝑽𝒂𝒓) 
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